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2. Attempt all questions. seipt of this question paper.

3. Each question carries 15 marks.
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What is advertising? Discuss the objectives of

advertising.
Or

Critically examine DAGMAR approach in setting

advertising objectives.

What is meant by selectivity with regard to purchase
of advertising media? Discuss the various ways

magazines offer selectivity to advertisers.
Or

Discuss the important methods of setting advertising
budget.

What are the various post-testing techniques available
to a marketing manager to test the effectiveness of

the advertisement?

Or

*
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What is an advertising- agency? Explain the
organization structure and working of an advertising

agency.
What is personal selling? Explain its nature and
significance.

Or

Explain various types of salespersons giving examples.

Write short note on any three of the following:
(a) Role of ASCI

(b) AIDA MODEL

(¢) Advertising Copy

(d) Buying-Formula theory of Selling _

(¢) Sales Manual
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1. (a) The following are the summarized Balance Sheets of Star Ltd. as on 31
March 2022 : . |
Particulars Note No. 3
I | EQUITY AND LIABILITIES
Shareholders’ funds ‘
(a) Share capital 1 10,96,00(
(b) Reserves and surplus -2 3,40,00(
2 | Non-current liabilities
(a) Long-term borrowings 3 1,20,00¢
3 | Current liabilities
Trade payables 54,001
: TOTAL 16,10,00
IT | ASSETS '
1 | Non-current assets
(a) l?roperty, Plant and Equipment 13,10,00
(Tangible assets)
(b) Non-current investments 1,10,00
2 | Current assets
Cash and cash Equivalents ik
TOTAL 16,10,0¢
Notes to accounts :
1. Share capital .
Subscribed and fully paid 6,00,0(
60,000 Bquity Shares of T10 each
Subscribed but not fully paid 4,96,01
5000, 10% Preference Shares of 100 each 5,00,000 ‘
Less: calls in arrears on 200 shares @ 20 per share (4000)
' 10,96,0
2. Reserves and Surplus
Securities Premium 40,0
Surplus 3,00,0
3,40,0
3. Long-term borrowings :
12% Debentures 1,20,(
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(b)
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On 1st April 2022, the board of directors decided to forfeit the shares on
which calls were in arrears, forfeited shares were reissued @ %90 per share.
To redeem the preference shares at a premium of 10% and to sell the
investment at its market price of 290,000. They also decided to issue sufficient
number of equity shares of 210 each at a premium of ¥2 per share required
after utilizing the surplus account leaving a balance of ¥1,20,000. Premium -
on redemption is required to be set off against the securities premium account.
Repayments of redemption were made in full except to one shareholder
holding 100 shares who was untraceable. Two months after redemption the
company decided to issue two bonus shares for each share held in the
company.

You are required to show the journal entries to give effect to the above
arrangements. | . " (15)

Tanmay Ltd. had an issued capital of ¥60,00,000 divided into equity shares
0of 100 each. The balance in the securities premium account was ¥3,00,000
and general reserve was ¥15,00,000 the company decided to buy back
10,000 equity shares of ¥10 each at ¥12 per share. No fresh issue
was made for this purpose. Record the transaction in the journal of the
company. (5)

OR

Anmol Ltd. gave a notice of its intention to redeem it’s outstanding ¥8,00,000,
6% debenture stock at ¥102 percent and offered the holders the following
options: i) 5% cumulative preference shares of ¥40 each at T45 per share,
ii) 6% debenture stock at 96%, iii) to have their holdings redeemed for cash.
Holders of ¥3,42,000 stock accepted proposal. (i) Holders of %2,88,000
stock accepted proposal (ii). The remaining stockholders accepted proposal
(iii). Pass the necessary journal entries to record the above transactions.

(3)
Preet Ltd. had 5000, 10% debentures of 100 each outstanding. The interest
on these debentures is paid half yearly on June 30" and December 31*
every year. The company is not maintaining any sinking fund for redemption
of debentures. On 1 April 2022, the company purchased 500 debentures at -
the rate ¥95 each cum-interest for immediate cancellation. On 1st October
2022, the company purchased 600 debentures at the rate ¥90 each ex-
interest for immediate cancellation.

P10,
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You are required to record in books :

(i) The payment,of interest on June 30 and December 31,2022,

(i) Purchase and cancellation of debentures on 1

st April 2022 and

October 2022 assume redemption is made out of profits.

(c) State any three purposes for which securities premium account can

utilised.

(d) Differentiate between sweat equity and employee stock option.

2. The following is the Trial Balance of P Ltd. as at 31% March, 2022 :

Particulars Debit () | Credit (%)
Equity Share Capital 20,000
General reserve 3,000
Land and Building (cost ¥30,000) 14,000 !
8% Debentures 10,000
Bank Overdraft 150
Inventory (closing) 12,800

Securities premium 1,000
Debenture Redemption Reserve 4,000
Surplus 850
Sales revenue 10,400
Fumniture (original cost 1,500) 800

Plant and Machinery (original cost 20,000) 10,000

Trade Debtors 7,100

Trade Creditors 1,700
Salaries to staff 800

Printing and stationery . 120

Investment (at cost) 600

Cash in hand " 200
‘Preliminary expenses 400

Cash at bank 2,400

Advance income tax 800

Interest 200

Debenture interest 400

Directors fees 200

Rent, rates and insurance ¥ 280

TOTAL 51,100 51,10(
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Additional Information :

(i) The company was incorporated with an authorized capital of 1,00.000
divided into equity shares of T100 each, of which 400 shares are issued and
%50 per share are called and paid up

(iiy Depreciation is to be provided for the year as under: (a) land and building
at 5% on straight line basis (b) furniture, plant & machinery at 10% on

reducing balance basis.

(iii) Debtors worth 500 are considered bad for which full provision is to be

made.
(iv) Provide for audit fees Y250 and provision for income tax %2400.
(V) Insurancé is prepaid to the extent of ¥80.
(vi) It has been decided to write off preliminary eﬁpenses.

(vii) The directors have recommended:
(a) Transfer of 1000 to debenture redemption reserve.
(b) Transfer of T400 general reserve.
(c) Proposed equity dividend of 8% on paid up capital.
You are required to prepare :

I. A Statement of Profit and Loss for the year ended 31* March, 2022.

II. A Balance Sheet on the same date. (L)
OR

The following is the Trial Balance of Pratibha Ltd. as on 31 March 2022 :

PT.O.
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Credit )

Particulars Debit )
Equity Share Capital (X 10 per share fully paid up) 40,00,0(
12% Debentures 30,00,0¢
Surplus Account 2,625
Bills payable 3,70,01
Creditors 4.00,0
Sales 41,50,0
General Reserve 2,50,0
Provision for doubtful debts (1-4-2021) 35,0
Plant 35,90,000
Premises 31.17,000
Stock (1-04-2021) 7,50,000
Trade Receivables 8,70,000
Goodwill 2,50,000
Bad debts 21,100
Cash and Bank 4,06,500
Interim Dividend Paid 3,92,500
Calls in arrears 75,000
Purchases 18,50,000
Preliminary expenses 5,000
Salaries 9,66,800
Manufacturing Expenses 68,350
Wages 1,53,250
Debenture interest pald 1,80,000
Provision for depreciation on Plant 2,90,
Administration expenses 49,000 '
Printing and stationery 13,000

1,27,57,500 | 1,27,57,

From the above-mentioned balances and the following information prepa

year-end Statement of Profit and Loss and Balance Sheet of the company :

schedule III of Companies Act 2013.

(i) Stock on 31¢ March 2022 was valued at ¥9,50,000.

(ii) Provide 15% for depreciation on Plant and write off preliminary exp

(111) Create provision for bad debts at 5% on debtors.

(iv) Make a provision of 40% for income tax on the profits earned duri

year.
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(v) Transfer ¥30,000 to general reserve.

(vi) Directors proposed a dividend @ 5% on paid u share ca ital.
@ P P

3. The following are the summarized Balance Sheets of ABC Company Limited as

on 31% March 2021 and 2022 :

(15)

Faricgans 31-03-2022 | 31-03-2021
- 4 5
I | EQUITY AND LIABILITIES
1 | Shareholders’ funds
(2) Share capital 13,50,000 13,50,000
(b) Reserves and surplus '
-General reserve 9,30,000 9,00,000
Surplus 2,04,000 1,68,000
2 | Non-current liabilities
10% long term loan 8,10,000 -
3 | Current liabilities
(a) Trade payables 4,02.000 5,04,000
(b) Short-term provisions (for Tax) 30,000 2,25,000
Total - 37,26,000 | 31,47,000
IT | ASSETS
1 | Non-current assets
(a) Property, plant and equipment
Tangible assets 9,60,000 12,00,000
(b) Non-current investments 1,80,000 1,50,000
2 | Current assets >
(a) current investments 21,000 17,000
(b) Inventories 6,30,000 7,20,000
(c) Trade receivables 13,65,000 6,30,000
(d) Cash and cash equivalents 5,70,000 4,30,000
Total 37,26,000 31,47,000

PLO.
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Additional information :
(@) Investments costing ¥24,000 were sold during the year for ¥25,500.
(b) Provision for tax made during the year was ¥27,000.

(c) During the year a part of fixed assets costing ¥30,000 was sold for ¥36,000.
The profit was included in the statement for P&L.

(d) Interim dividend paid during the year was ¥1,20,000.

Find Cash Flows from operating activities and cash flows from investing

activities. (10)
OR
(a) Give any 3 differences between AS-3(Revised) and Ind AS-7. (3)

(b) An extract of income statement of Ginni Ltd. for the year ended 31 March
2022 was as follows :

T g
Sales : 40,00,000
Less: cost of goods sold ; (17,50,000)
Gross profit 22,50,000
Less:
Salary 4.45,000
Rent 3 97,500
Depreciation 1,25,000
Goodwill written off e 90,000
Printing and stationery 65,000
Loss on sale of machinery 80,000
Provision for income tax 3,60,000

(12,22,500)

Net Income 10,27,500

Additional information :
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‘ Balance as on 31-3-2021 () | Balance as on 31-3-2022 (3)
Inventory 55,000 65,000

Sundry debtors 42.000 62,000

Prepaid rent 10,000 .| 5000

Bills Payable 56,000 "~ | 48,000

Bank overdraft 15,000 20,000

Using indirect method, prepare cash flows from operating activities as far
AS-3 revised. (7)

4. Zenith Ltd. acquires the business of Tao Ltd. whose summarised balance sheet

as at 31% March 2022 is as follows :

Particulars Note No. g
I | EQUITY AND LIABILITIES
1 | Shareholders’ funds
(a) Share capital 1 12,00,000
(b) Reserves and surplus 2 1,18,000
2 | Non-current liabilities
(a) Long-term borrowings (12% 2.00,000
Debentures) ;
3 | Current liabilities
(a) Trade payables (creditors) 1,20,000
(b) Other current liabilities (accrued 12.000
interest on Debentures) ;
TOTAL 16,50,000
IT | ASSETS
1 | Non-current assets
(a) Property, plant and equipment
(1) Tangible assets 3 10,00,000
(11) Intangible 4 2,50,000
2 | Current assets
(a) Inventories . 1,50,000
(b) Trade receivables 1,80,000
(¢) Cash and cash equivalents 70,000
i TOTAL 16,50,000

B.T.0.
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Notes to accounts :

1. Share capital

Equity share capital @ ¥ 100 each fully paid 8,00,01
10% Preference Share Capital @ ¥ 100 each fully paid up 4,00,0
12,00,0
2. Reserves and Surplus
Surplus Account 50,0
Capital reserve 60,0
Workmen compensation reserve (expected liability 5000) 8,0
; ‘ ' 1,18,0
3. Tangible Assets
Land and Building . 4,00,0
Plant and Machinery 6,00,0
10,00,0
4. Intangible Assets
Goodwill 2,00,0
Patents 50,0
2,50,0

Zenith limited to take over all assets (including cash) and liabilities (excep!

interest due on debentures) and to pay the following amounts :

(i) For each prefei‘ence share in Tao Ltd. %10 in cash and one 9% pern

preferential share of 100 each in Zenith Ltd.

(i) For each equity share in Tao Ltd. 20 in cash and one equity share in Ze

Ltd. of 2100 each having a market value of ¥140.

(iiiy Expenses of liquidation of Tao Ltd. amounting to 210,000 are to be reimbu

by Zenith Ltd.

(iv) ¥2.00.000, 14% debentures of ¥100 each in Zenith Ltd. for exis

debentures in Tao Ltd.
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Zenith Ltd. value land and building at ¥5,50,000, plant and machinery at
¥6,50,000, and patents at ¥20,000.

Make realisation account, Equity shareholders account, Bank account and

Preference shareholders account in the books of Tao Ltd. and give journal entries
in the books of Zenith Ltd.

(15)

The following are the summarized Balance Sheets of Florence Ltd. as on 31

: March 2022_:

Particulars Note No. 4
1. | EQUITY AND LIABILITIES
1 | Shareholders’ funds
(a) Share capital 1 46,00,000
(b) Reserves and surplus 2 (17,50,000)
2 | Non-current liabilities
(a) Long-term borrowings 3 15,00,000
3 | Current liabilities
(a) Short Term Borrowings 4 5,80,000
(b) Trade payables (creditors) ©12,00,000
(¢) Short-term provisions (Provision 215,000
for Tax)
TOTAL 63,45,000
II | ASSETS
1 | Non-current assets
Property, Plant & Equipment 5 19,15,000
Intangible 6 6,70,000
Non-current investments 2,20,000
2 | Cuarrent assets
(a) Inventories 17,00,000
(b) Trade receivables (debtors) 17,40,000
TOTAL 63,45,000

AT
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Notes to accounts :
1. Share capital |
Equity share capital 3,00,000 of 10 each fully paid up 30,00,00
10% Preference Share Capital: 1,60,000 shares of ¥ 10 each 16,00,00
fully paid up
2. Reserves and Surplus : : (17,50,00C

Deficit in statement of profit and loss
3. Long-term borrowings

7% Debentures (secured against Land & Building) 15,00,00
4, Short Term Borrowings iy

Bank Overdraft 5,80,0C
5. Tangible Assets

Land and Building 17,00,0(
Plant and Machinery 3,15,0(
6. Intangible Assets

Goodwill ) ¢ 5,00,0(
Patents 1,70,0(

It was decided to reconstruct the company for which necessary resolution
passed and sanctions were obtained from appropriate authorities and the follow

scheme for reconstruction was agreed :
(i) All equity shares are reduced to 3 each and preference shares to X7 e

(ii) Debenture holders agree to take over a part of land and building, b
value of which is 27.00.000 towards their 50% claim. The rate of inte

of balance 50% debentures is increased to 10%.
(iii) Stock has to be written off by ¥2.50,000.
(iv) Goodwill and patents will be written off.
(v) A provision for bad debts is to -be created at 10% of Sundry debtors

(vi) 50% of land and building is sold for 76.00,000 and remaining land
building is valued at 6.00.000. :

(vii) Investments to be sold for ¥2,10,000.
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(viii) Expenses of reconstruction amounted to ¥20,000.

(ix) The income tax liability of the company is expected to be settled at ¥3.21,000.

Provision for income tax to be raised accordingly.

(x) 1/3 of trade creditors decided to forgb their claim.

(xi) Equity shares are further consolidated into equity shares of 30 each.

(xii) After making all the above adjustments the balance amount available through

scheme, will be utilized to write off the value of plant and machinery to that

extent.

You are required to pass necessary journal entries to bring the scheme into
effect.

(15)

5. The following are the balance sheets of H Ltd. and S Ltd. as at 31* March

2022 .
Particulars Note No. | H Ltd. ) | S Ltd. (%)
EQUITY AND LIABILITIES
Shareholders’ funds
(a) Share capital 1 16,00,000 4,00,000
(b) Reserves and surplus 2 4,800,000 12,00,000
2 | Current liabilities
Trade payables 3.20,000 1,60,000
i TOTAL 24,00,000 17,60,000
IT | ASSETS -
1 | Non-current assets
(a) Property, Plant & equipment
Tangible assets 8,00,000 4,00,000
(b) Non-current investments 3 8,00,000
2 | Current assets
(a) Inventories (stock -in -trade) 4,00,000 3,60,000
(b) Trade Debtors 2,40,000 8,00,000
(c) Cash and cash equivalents 1,60,000 2,00,000
TOTAL 24,00,000 17,60,000

PO,
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Notes to accounts :

1. Share capital H Ltd. ® S Litd. (
Equity shares of T 10 each 16,00,000 4,00,01
2. Reserves and Surplus

General Reserve (as at 1% April 2021) 4,00,000 4.00,0
Surplus 80,000 8,00,0
3. Non- Current Investments

Investment in equity shares of S Ltd. 8,00,000

Additional information :

(i) H Ltd. had purchased the shares in the subsidiary company on 1st Jani

2022.

(i) S Ltd. distributed bonus shares out of the general reserve in the ratio of
share for every two shares held in February 2022, but the entry for bc

issue has not been passed by it yet.

(iii) There was an abnormal loss of goods by fire amounting to ¥60,000 or

October 2021.

(iv) The balance of surplus in the statement of profit and loss of S Ltd. o1

April 2021 was %3.20.,000.

(v) H Ltd. held 36,000 equity shares (including bonus shares) in S Ltd.

31st March 2022.

Prepare the consolidated balance sheet of H Ltd. and its subsidiary S Ltd.

31st March 2022. Show your workings clearly.

OR

H Ltd. acquired 40,000 shares in S Ltd. on 31* March 2021.The followin

the balance sheets of H Ltd. and S Ltd. as at 31% March 2022 :
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Particulars NoteNo. | HLtd.(®)| SLtd
EQUITY AND LIABILITIES
1 | Sharehoélders’ funds
(a) Share capital 1 16,00,000 5,00,000
(b) Reserves and surplus 2 8,00,000 3,00,000
2 | Current liabilities
Short term borrowing (Bank
Overdraft) 3,20,000 |  1,00,000
Trade payables 40,000 ; -
: TOTAL 28,00.000 9,00,000
II | ASSETS '
1 | Non-current assets
(a) Property, Plant & equipment
Tangible assets 14,00,000 5,00,000
(b) Non-current investments 3 6,00,000
2 | Current assets 8,00,000 4,00,000
TOTAL 28,00,000 9,00,000
Notes to accounts :
1. Share capital H Ltd. ) S Ltd. (%)
Equity shares of % 100 each fully paid up 16,00,000 5,00,000
2. Reserves and Surplus
General Reserve 6,00,000 1,00,000
Surplus 2.00,000 2,00,000
3. Non- Current Investments
Investment in equity shares of S Ltd. 6,00,000

Additional information :

Este Ltd. had a credit balance of Z1,00,000 in the general reserve and ¥40.000
in the surplus in the statement of profit and loss when H Ltd. acquired the shares
in S Ltd. The subsidiary company S Ltd. issued bonus shares in the ratio of one
share for every five shares held out of the profits earned during the year 2021-
22. this is not shown in the above balance sheet of S Ltd.

Prepare consolidated balance sheet of H Ltd. and its subsidiary S Ltd. as at 31st
March 2022. Show your workings properly. “(15)

EEC
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areIfde sad : 400 |

3% F T ‘ 2,400

O IRET 800

ST 200

fadR saTer ' : 400

feerhl &1 B : 200

fortra, g¥ 3R & 280

gl 5 51,100 51,100
SfARFT SHH :

(i) =t & 21,00,000 alﬁﬁ.qﬁ%wﬁnﬁa%mw o, @ 2100 &
=) IR ¥ fanfera e e o, e @ 400 IR W19 T S 2 3R 350
T 3 @ W ? 3R e R e 2

(i) =f & forg eaem FergEr Tem 6 e 2 (m)m%@ﬁ;aﬁmm 5%
R i 3 W (@) 10% T FTY §Y THRN R R FAK, G SR e

(i) 2500 & IR @Y e A T 2 R g @ e R s

(iv) AT The Y 2250 AN AT 22400 T WAL Y ol

(v) & 280 F o W THE B




4366 20

(vii) ﬁ%m?f%ﬁmﬁma?r%

(¥) 400 AW SRR W FHR

(1) we<t o0 W 8% °hT AT EfFadl

IR IR T 8RN

() Re<R A= SRR BT A 71000 T AT

(vi) TR @ T 92w N T @ R e g

I 31 ¥R, 2022 @ @A 9Y @ fog A iR B @ e

[I. 38 9@ & UE solg del (15)
Il

31 W 2022 @ Pratibha Ltd. =7 9 -9 Fefofas 2
ICCEY T (?) FfET (%)
gﬁ—ﬁﬁ CIEIEd q‘\'\i'h' (10 gfa T q‘\‘ﬁﬁ: ued) 40,00,000
12% T2 30,00,000
3T @ 2.62.500 |
e foer 3.70,000

| e 4,00,000
forshr 41,50,000
qHAT ARET [ 2.50,000
F@icaer %ol & T gaue (1-4-2021) 35,000
RE 35.90,000
aRER 31,17,000
FTidh (1-04-2021) 7.50,000
AR 9T

8,70,000




4366 , et

astad ' 2,50,000
3TRITET T | 21,100
S 7 FRdT | 406,500
e AR TSI 3,92,500
AT AT HT THAT T 75.000
SR 18,50,000
BIRICERCER] 5,000
das 9,66,800
faferaior sy 68.350
S LU : 1,53,250
foda¥ vewr sarst ' 1,80,000
HIF R FHIGI P AT - 2.90.000
TRITEfTR 7 49.000 '
aeor AR e el 13,000
1,27,57,500 | 1,27,57,500

ST T A SR e W A w2013 @ SEEd 0w
FTER B & o R B 3R qAG die & ad & g o Feww R S

(i) 31¥w, 2022 F =T F T4 $9,50,000 2

(ii) o R 3eaETE F fT 15% 1 AT FA SR RN =7 w2 @ ¥ s
(i) IR W 5% T T ¥ WA T D T W@ T

(iv) ad & 2w afvle o ® e & forg 40% @1 waue S

() =R sdem fAftr % 30,000 T AART Fe

(i) FRwE ¥ wed IR T W 5% @ W ¥ AT 3 W e g (18)
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3 319 2021 3K 2022 F ABC Co. Lid. 3 dferar dete dive Fforfem g

FeracoT 31-03-2022 | 31-03-2021
% 4
. I gfFadt siv qeerfan
1| drarumet i @fYr
(a) T G 13,50,000 13,50,000
(b) 3R 3R HRAY A '
SR 2 L 9,30,000 9,00,000
2,04,000 1,68,000
2 ih_mﬂm
10% &reemifors T 8,10,000 :
3 | = Zan |
(a) SR 2T 4,02,000 5,04,000
(b) IeuHIfaS T (FT ) 30,000 2,25,000
F 37,26,000 31,47,000
I | srfesar
1| dR-are], anfeaar
(a) Tufay, IO 3R 3UHOT
{ T 3nfeaar 9.60,000 12,00,000 |
(b) Fr-avey, fraer 1,80,000 1,50,000
2 | arey snieaar
() T e 21,000 17,000
(b) s 6,30,000 7,20,000
| (c) =M wrer 13,65,000 6,30,000
(d) 7RET 3R FTRET THIHT 5,70,000 4,30,000
S 37,26,000 31,47,000
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1366 93
FERFT FATFRT

‘ (%) 24,000 ¥4 it @ O R 6t o @ W 225 500 F F=r W o
(@) 94 = I/ = & forw 727,000 =1 wEuw frar W@ om

(1) = = 2RET 230,000 F A A v G F OB REw 336,000 ¥ <= 74T m
T H A SR i @ e Rrawor ¥ wfe R oo

(o) o & <R s Rar @ siaRa @ 21,20,000 oM

i IR @ TS yarE i FEw TRERm ¥ T v @ g @l
| (10)

ar
(57) As-3 (Faifer) Sft Ind AS -7 & = 1 3 3R a0 | (3)
@) 31¢|ﬁf2622aﬁwwra&%ﬁchinniud.%mﬁammwﬁwﬁm:

3 2
shr - , 40,00,000
HETU: &3 AT A HI awa (17,50,000)
hel oAl 22,50,000
EEL .
~ da= 4,45,000
. | 97,500
HedeT 1,25,000
T WA A SN IS TR 50,000
7o 3R o 65,000
RN 1 R 9T gifer ' 80,000
FF & v graer 3,60,000
(12,22,500)
—— : 10,27,500
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Jifafeed G
31-3-2021 =t g (%) | 31-3-2022 &1 g&[ (3)
8 55,000 65,000
fafdy deer 42,000 62,000
qdee fr 10,000 5000
2 foer 56,000 48,000
S 3aRgre 15,000 20,000

swcas R %7 ST @ gy, AS - 3 TEite aRee Tl ¥ JEwd yaE
FR i

(7)

4. @ﬁ&‘lﬁ‘iﬁ?‘s"ﬂ‘ Tao Ltd. & =qaaT & fenrew fohar, fSmen 31 w1 2022 9@ Gfera

o fe FrEr 2
faavor Al ¥. 4§
I | gfdgd 3k eogRan i
1| ey $r ffer
(a) R Il b 12,00,000
(b) 3R 3R 3R 2 1,18,000
2 | iR-are AgaTe
(a) QrEThIToR FUR (12% f3dwR) 2,00,000
3 a'ﬁq'\a'qaﬁ ;
(a) SATIT YT (VER) 1,20,000
S;)Tj:q T 12,000
16,50,000
I | anfect |
1| d-grey snfear
(a) TURY, FIF 3T 3THIOT
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10,00,000

(i) AT nfea=
(i1) 31t 4 2,50,000
| 2 | e s
| (@) z=asy 1,50,000
(b) =mar sy 1,80,000
(©) Frer 3R bl Tmgea 70,000
Fo 16,50,000
wH B Gy N fewfor .
1. 9T it - 3
SIFTEr R Gl 2100 9T FY &% @ i wem 8,00,000
X100 T & 10% AR R et qoier: wea 4,00,000
12,00,000
2. Iy sit sifey
3Ry @ 50,000
IRMEIT i . 60,000
FIHAIR AHTGSTT HRET AR (Gonfag 2aare 25000) 8,000
1,18,000
3. 7 anfeaat
R 3R s1ger 4,00,000
T 3 ey 6,00,000
= 10,00,000
4G anfewat
]‘ =Ra 2,00,000
E&' 50,000
’ 2,50,000

Zensh Limited ¥ IREaRRY (Fd @) stk dmerRay (R R 3 o1wt =t Sigaw)
= FowE w4 AR PR aid @ e wa
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(i) TaoLtd. ¥ iy SRR J & ﬁwﬂaﬁ 3 210 3 Zenith Lid. % 7100 ¥R &
v 9% wime e &

(i) Teo'Ltd. ¥ Wi 3Rt I & Rg 220 7T N Zenith Led. F 2100 T T
s Fae, e aeR 15 7140 2

(iii) Tao Ltd. & UREHAM & 10,000 T4 & = ol WU Zenith Ltd. BRI Sl ST
2l ’

(iv) Tao Lid. ¥ Hisier fRaR & fo Zenith Ltd. ¥ 72,00,000, 100 Tt & 14% R=R
# :

Zenith Ltd. ¥ 5[ 3R S &1 74 35,50,000 T I LRI T T 26,50,000 3K JeT
" ST 9 720,000 T B

TaoLtd;a%aﬁmﬁfﬁa@m,gﬁaﬁmm,%maﬂt SIBLIE RO
@I SC AR Zenith Lid, & w& @R A T WAfedn S (1)

4. 319 2022 H Florence Ltd. &) GRRG doig e FeforRas 2 ;

favor | @ 4. 4
I | sfFadY stk qeeiRar it
1| drrarat i @A
(2) AR IS 1 12,00,000
(b)amﬁmraﬂt FHfeRY et 1,18,000
2 | ey aware '
(a) Srion 3UR (12% fBeR) 2,00,000
3 | e, qurd | o
() STIR 91T (ATER) 1,20,000
:ETWW(%WWW 12,000 |
gl 16,50,000
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11 | spfeaat
1 | e snfeear ,
() GO, TIF 3R 3T
(i) 7 e 3 10,00,000
(it) 3T 4 2,50,000
2 | ey anfeean
(a)gdogy 1,50,000
(b) AR ST 1,80,000
(c) THET 3 FHET FAJT 70,000
16,50,000
fravor A 4. 3
I | sfadr st aeqiftar
1| et $1 @0
(a) R ol 1 46,00,000
(b) IET 3T AT 2 (17,50,000)
2 | e et '
(a) Ereemifaes U 3 ~ 15,00,000
3 mﬂm&' ‘
O GREUGEREVIN 4 5,80,000
(b) MR T (F+ER) 12,00,000
v (c) IeuFIteR uaue (X F v :
| : 2,15,000
|| )
| ol 63,45,000
I | anfeaar
L | dx-=re, it

R0,
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Fafey, g9 3T 3THT 5 19,15,000
Ci) 6 6,70,000
ARy, T 2,20,000
2 | are anfeaan
(a) S=degT 17,00,000
(b) TAIR HI (&FER) 17,40,000
o 63,45,000
@ Feu ¥ oo
1. AT Gait
=fFadr aRR gal 3,00,000 X0 TFA & qofa: e 30,00,000 |
10% 3R AR G 1,60,000 AW 10 TfeX % qo: | 16,0000
ved A
2, sl 3y arferew (17,50,000)
arer 3 gy & fRaver & e
3, Qafas 3UR
79 R&R (R AR wET F gfad dfaeg) 15,00,000
4. FAFTAE UK
d 3fagiee 5,80,000
5. /& el
HA 3R 1T 17,00,000
o 3T AR 3,15,000
6. FHFF FTTAAT
R 5,00,000
9ee 1,70,000
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afﬁmgaﬁﬁwﬁmﬁﬁaﬁmmﬁm%ﬁwmwmﬁaﬁmmm
aﬂtsﬁaa@mﬁﬁ%ﬂ@maﬁﬂéﬁaﬂrgﬂﬁﬁw%ﬁmﬁw&ﬁaﬂmm
Al oI A TR A

(i) @ TR IR F R 23 3 AR JA A AeTE 27 F A e B

(i) R e St o s R v B A A oy e 2, e a8t
IR 50% T & B 27,00,000 21 AW 50% RYW I AW R A TEER 10%
= fear wmam 2 :

(i) & H T 2,50,000 aﬁa%w%ﬁmﬁim
(iv) TR iR Re 92 @ § 3 e s
(v) faftw ¥R & s = & fQ 10% W v waue fhar o 21

(vi) 50% ¥Rr 3R ¥ 26,00,000 ¥ ¥ W ¢ IR AW R aﬂtmwﬁa
%6,00,000 21 '

(vii) &= £2,10,000 F S S
(viii) gAFAT 0 @ T 20,000 M

(i) O o SR IR A FMA 3,21,000 WA F AN AR IHA B TEGER
AR T T WFET o S

(x) =R FFER & 1/3 F F AL H B T hae
(xi) SRR R A 30 T @ TR IR A wfnd e R

(xii) IR TR TG S S A1E AT D A § ST A TR A1 ST I
H TF GO R AHAY D T H G @A A S & (g femar smeam)

AT H AN FA ® R SR ST s wfea wiRa we e 2
(15)

PT.0:
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5 31 WY 2022 W HLtd.andSLtd.aﬁTaﬁas‘hzﬁmﬁﬁdH%':

Rrawor e d |HLd R |SLdQR)
I | sfFadr iR gerarian
1 | eyt &y
(a) AT oA 1 16,00,000 400,000 E
(b) 3RfE 3 R 2 4.80,000 | 12,00,000 ‘
2 | arey gard |
SR oA 320000|  1,60,000
Fol 24,00,000 | 17,60,000 ‘
I | anfeaar
1 | dg-arey snf¥ear :
8.00,000 |  4,00,000
(b) IR-ae, Fa=r 3 8,00,000
2 | e snfear ;
(a) S=awy (s el 4.00,000|  3,60,000 ll
(b) CaNR &R 240,000 800,000 '
(c) FReY 3R FTReT FAGT 1,60,000 2,00,000 |
5o 24.00,000 | 17,60,000 |
1
& gey # feoafor
1. R it HLtd )| Skd Q)
710 9fa & sfFacr W 16,00,000 4,00,000
2. yfEa 3 sftew
AT 3R STAT (1 378 2021 i) 4,00,000 4,00,000
iR : 80,000 8,00,000
3. d-are] faaw
S Ltd. & gfFacr T # faer 8,00,000
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4. ®)
0,000

0.000 |

0,000
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FfaRea AR :

(i) HLtd. ¥ 1 SHall 2022 A wEEE FE ¥ W xR A

(i) S Lid. ¥ wead 2022 ¥ snfor wfer A F o g v I D ST ¥
SR S ¥ ¥ S R REka e, e 9vE T @ g aRe s e

wiRa & @ T B

&) 1 37T 2021 Y AN A 360,000 D GEE H AR THAH g3 AN
() =N ’ = g

(iv) 130 2021 F S Ltd. T W e B & Rerer ¥ ey % 3w f¥ 23,20,000

q

(v) HLtd & 9@ 31 W 2022 T S Lid. ¥ 36,000 R IR (I IR AE)

D

31 7 2022 T H Lid, 31K 580 9810 S S Ltd. 9l T S e dar Hifme

FFR T TR @ T w0 A R

U1

(15)

HILtd 3 31 5 2021 & S Ltd. ¥ 40,000 IR o sifemrewr fan 31 AW 2022 ‘aa?-
HLtd. 3R S Ltd. = o die Fefofaa 2 '

faaor A ¥ HLd. )| SLtd.R)
T | sfdr 3R i
1| st A @
T (@) 9 o ' i 16,00.000|  5,00,000
PEGEEEL 2 8.00.000|  3,00,000
2 | oo Sard L
ey SUR (§F HEER) :
3,20,000|  1,00,000
=R 2T 40,000 -
TOTAL | 28,00,000 |  9,00,000

F.1.0:
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IT | st
1 | d-awe anfeeat
: 14,00,000 |  5,00,000
(b) - = Fder 3 6,00,000
2 | ey snf¥erar 8,00,000 4,00,000
Fel 28,00,000 9,00,000
@ & day A fEefow
1. R Yot H Ltd. ®) S Ltd. })
2100 % sfFadr R I T 16,00,000 5,00,000
2. sreida, s afordw
AT AR 6,00,000 1,00,000
FHfERw 2,00,000 2,00,000
3. A-ae fawr
SLtd ¥ sfaadr I # @ay 6,00,000

. fAReET TP

& HLtd ¥ S Ltd. ¥ A & stferrEwT foRan A EsteLtd.%qmmmm e Bl %
21,00,000 3R ¥ 3k = & fmor % sift@w ¥ 40,000 T SR SRl AW AT GBS

FEY S Ltd. 7 @ 2021-22 2 A IR o ¥ | TR I

R & forg v AW

U ¥ A TR W Y, 9w sua.a%sqﬁaa%@faaﬁaﬁjé‘fﬁ@mw%:

31 9™ 2022 9% H Ltd. 3R = gEEE FHIAl § Lid. =0 wifra a9 e daR R

o 3R = W fEm

(15)

(10,000)
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2. aft yIT sfEd € T 9ue I @ R H (OR)
' T -
3. TE YA -TF & I St a1 BE R v o # Siferg, :
_ (a) Comment on the following :
a7t IR T ALAH T BT ARY |
(i) “Rule of estoppel does not apply to a
minor”™
1. (a) State with reasons whether the following

statements are true or false: (it) “Offer can be subject to any terms and

conditions”
(1) Void contracts and void agreements arg

different (iii) “Wager is different from Insurance

contracts” 9)
(i1) Undue influence is assumed and need na

be proved (b) Ashoka, a minor was supplied some necessary

articles by Sumit for an agreed price of Rs. 10000,

(iii) Communication of acceptance is complet ) 5
Can Sumit recover the agreed price from

when it comes to the knowledge of thi
Ashoka. (6)

offeror 9

, . ' (a) “Difficulty of performance does not discharge a
(b) A promises to repay the debt of his younger brothe

contract”. Comment, (5

(b) Write a short note on Bailee’s right of Lien.

(5)

What remedies are available to B.

P.T.O.




LR L e

4370 4 4170 5

(¢) Discuss the circumstances when an agedpy b May. When will the ownership pass to B. Will

necessity is created. (5 your answer be the same if buyer and seller have
apreed that ownership will pass only when the
(OR) : :
table is delivered to buyer’s place. (5)
(a) “When a person makes payment which is due frof
(OR)

another, he can claim reimbursement from thi

liable party“ Comment (: tn) "I el |Hhing Ol‘ gOOdS doeS not affect a contract Of

ale™ Comment giving exceptions if any. (5)
(b) “Liability of Surety is coextensive with that of th

Principal Debtor”. Comment. ($ (hi Discuss the rule of Caveat-Emptor with

LY l‘]'ll(lllh'. (5)
(¢) Differentiate between Unnamed Principal ad

Untliselosed Principal. (o1 A urdered for 10 bottles of Champagne from B.

I delivered 15 bottles by mistake. What remedies

3. (a) Discuss, with examples, the implied conditions § e avatlable with A. Does the contract become
Sale by Sample. vatdable in this case. (5)
b) “Right of stoppage in transit of an unpaid seller; ,
(b) & ppag P L] (ul Inifferentiate between Digital Signature and
an extension of his right of Lien™. .
Flectronie Signature. )
(c) A enters in to a contract to sell a table (ready £ ) o
_ (i) Discuss the duties of Certifying Authorities.
delivery) to B on 5 May 2023. The table to
(5)
delivered on 8" May and price to be paid on 1
P.L..C).
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(c) write a note on cyber offences involving damagg
/

to computer resource. (5]
(OR)

(a) Discuss the circumstances when an Electronic

Signature Certificate is suspended or revoked.

Asymmetric Crypto System.

5. (a) Differentiate between LLP and a Private

Company. (5)

(b) Discuss the qualifications and Disqualifications ol

a Designated Partner.

(c) What is the procedure for changing the Registered

Office of an LLP? (5)

4370 7

(OR)

(a) Discuss the procedure for converting a Traditional

Partnership in to LLP. (3)

() What are the consequences of incorporation of an
LLP? )

() Discuss the procedure for choosing and changing

(he name of LLP online. (5)

() o e wa fn Frfae wT w8 § a1 I
(i) aﬁiaﬂ'«maﬂtmj&rww—w%
(ii) aﬂﬁﬁwwﬁmm%aﬁ?ﬁmﬁaaﬂ%
= srawEEal e B
(iii) T @ T F o R S o o
2 w2 (9)

() qaﬁ@%nﬁ@%aﬁﬂﬁaﬂmm%sﬁt
s e fRed €9 ¥ WAl @ 3R 38 Agd
%lmﬁ,vwwwmﬁ%mw%mél
§ & fig @ ¥ IR ITE T (6)

P.T.4.
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(=)
(s7) FrfoRas o R < -
(i) ‘“=o =1 o seaer W @) |8 e

(ii) “vere a1 < Fom 3 odl & o &) |eer
%v

(i) “<fa <ar el ¥ erwr 27 (9)

(@) @i, vE AEfem @ gRE B9 10000 R
EHA A o0 G5 sravaE Segat o g
TE G g s § e W 99w o) gl

gl (6)

2. (&) “wedi A wRAE T sy o Fide T e 27

oo =g (5)
(@) o & o & afteR W s dftrg e fRaw
(5)

(&) S uRfeafar & fE=mr St o srawsa 9 o
ot giora & S 21 (5)

1370 9

(=)

(o) “a S wfed W wET R S T ¥ 9 B e,
A a8 Iaverdl Wl ¥ W w1 eE e a2
frorl <o) (5)

(1) SR E AR Aw O & @Y @ 87 e
o] (5)

(4) a9 ffos @R emna BT & 99 AR ST
(s)

(5) Semwr & O™, d9w & fER @ AR @ w o=
R (5)

(@) ‘vw @ f@w @ W9 ¥ @A W AER SE
TEREGR & Jfter @ fomr 2 e A & vaw
¥ fer 7 fred 27 ' (5)

(@) A 5 9§ 2023 ® B ' U caw (Relad & fom

TOR) =9 & e v a@ﬁﬂﬁuﬁmm%usﬁ
w1 o foaia @ W SR 10 WE W Fwa @

2T L0,
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(37)
@)
(%)
4. (&)
()

10

WA SeEm wie St & w9 BET
FMIRT ITR F81 BNT Afe WAeR S fshar gewa 2 fh
w@iiHeT 9 9" BT W9 ARl @OER & T W
ugHlg SIQ (5)

(=)

‘M & A BW ¥ R % IMEY W SIS SR A8
Ugdl 37 Uaie Afe wis w8 o fTweh #@ife  (s)

AR & 9 Hdl GEUF @ Ul AU - TR & Had
w® = Hifeg (5)

TSR AR @0 a9 & fg stk fEmm @
S AR ¥ 15 del  fadia @0 Tow gm
SUUR IR ¥| T T A F IEEE T B S

27 (5)

EAlEI (5)

T WSRO & Faedl 9% ol il (5)

4370

)

11

efiet AR Y ARE T A AR FT R
ver feoroht fafaml (5)

(=)

S TRRefE W ==t ST o U Selag e BEIER
TR R o e e sen 2 (5)

o Rers & Jwor sl Wity & w9 S T

3 T FrRl W o= SR (5)

i smtaa T e (5)

e e S = e B e
(5)

g wHieR @ dvaa sk smwamet wou
i) (5)

veget & Uelgd wEIGd @ SEeH o Wi S
27 | (5)

P.T.O.
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1. (2
(b)
(a)
(b)

2
Explain the significance of cost reduction in the present economy. Mention

some important techniques used for cost control. (7

What is responsibility centre? Discuss briefly the nature and various types of

responsibility centres. ‘ (8)
Or

What is management Accounting? In what respect it is different from cost

accounting? (7)

Discuss with suitable examples any two methods used for measurement of

divisional performance. (8)

2. B Ltd. is producing Doctor’s sandal in its two factories located in Gurugram and

Noida.
Gurugram Noida

Selling Price Rs 50 ' Rs 50
Variable Cost Rs 40 Rs 35
Fixed Cost (total) Rs 2,00,000 Rs 3,00,000
Deprecation included in Fixed Cost | Rs 40,000 Rs 30,000
Sales (units) 30,000 20,000
Production capacity (units) 40,000 30,000

Required :

(1) Break-even point for Gurugrain and Noida Factory and which Factory is

more profitable?

(i) Cash BEP for Gurugram and Noida Factory.

(i) BEP for the company as a whole assurhing product mix of 3:2 (15)
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Or

(a) Xerox Ltd is Evaluating two new photo copying machines to replace the
firm’s existing copier machine, which is torn out. The analysis of two

alternative machine is shown below :

Cost of 100 copies
Machine A (Rs.) | Machine B (Rs.)
Material and labour Cost | 70 40
Annual Lease cost (fixed) | 58,000 1,00,000

Required :
(1) Compute the cost indifference point for two alternatives.

(i) If the management expects to produce 87,000 copies next year, which

copier would be more economical? (6)

(b) Nikunj company has a production capacity of 12,500 units and normal
capacity utilisation is 80%. Opening inventory of finished goods on 1% Jan
2022 was 1000 units. During the year ending 31% Dec 2022, it produced
11,000 units while it sold only 10,000 units.

Standard variable cost pef unit is Rs. 6.50 and standard fixed factory cost
per unit is Rs. 1.50. Fixed selling and administration overhead amounted to

Rs. 10,000. The company sells its product at Rs. 10 per unit.

You are required to prepare income statement under Absorption and Variable

costing. Explain the reason for difference in profit, if any. )




4

What do you mean by relevant costs and irrelevant costs in decision

making? 7 (5)

Star cycles purchases 20,000 bells per annum from an outsider supplier

_ at Rs. 5 Bach. The management feels that these be manufactured and

4375

B L)
(b)
(a)
(b)

not purchased. A machine costing Rs. 50,000 will be required to manufacture
the item within the factory. The machine has an annual capacity of

30,000 units and life of 5 years. The following additional information is also

available :
Material cost per bell will be Rs 2.00
Labour Cost Rs 1.00
Variables overhead 100% of labour cost

You are required to advise whether : -

(i) The company should continue to purchase the bells from outsider

supplier or should make them in the factory; and

(i) The company should accept the order to supply 5,000 bells to the -

market at a selling price of Rs. 4.50 per unit? (10)

Or

State the quantitative and qualitative consideration influencing a “make or

buy” decision. : (5)

Hamleys Ltd which produces three products furnishes you the following data

for the year 2022 :
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Products
Toys | Action Games | Activity Kits
Selling Price per unit (Rs) 100 75 50
Profit/ Volume ratio _ 10% 20% 40%
'Sales Potentials (Units) 40,000 | 25,000 10,000
Raw Material Content As % of Variable cost | 50% | 50% 50%

The Fixed Expenses are estimated at Rs. 6,80,000. The Compeiny uses a
single raw material in all three products. Raw material is in short supply and
the company has a quota for the supply of raw matenals of the value of

Rs. 18,00,000 for the year for the manufacture of its products to meet sales

demand.
Required :

(i) Find a product mix which will give the maximum profit, keeping in the

mind the short supply of raw material.

(i) Find the maximum profit. (10)

4. (a) Distinguish between Standard Costing and Budgetary Control. (5

(b) The standard cost of a Raw material used in Nilkalam Ltd is as follows : °
40% Material A at Rs. 20 kg

60% Material B at Rs. 30 per kg

PT.O,
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A standard loss of 10% is expected in production. The cost records for a -

period showed the following usage :

90 kg Material A at a cost of Rs. 18 per kg

110 kg Material B at a cost of 34 per kg

The quantity produced was 182 kg of good product.

Calculate all matle_:rial variances. _ - (10)

Or

(a) "~ Calculate Efficiency, Activity and capacity ratio from the follo‘wing figures :

Budgeted Production 88 Units

Standard hours per unit 10-

Actual Production 75 Units

Actual Working Hours 600 (5)

(b) From the following, calculate labour variances for department X and Y :

. Department X Department Y
Actual direct wages Rs. 2,00,000 Rs. 1,80,000
Standard hours produced 80,000 60,000
Standard rate per hour Rs3 _ Rs 3.5
Actual hours worked 82,000 58,000

(10)
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5.  (a) What is Zero Base Budgeting? What are the advantages of Zero-base

~ approach over traditional approach? (5)

(b) Following information is related to 2022 of Wakefit Ltd and- condition

expected to prevail in 2023. Prepare a budget for 2023

| 2022 Actuals Rs.
Sales 1,00,000 (40,000 units)
Raw n_.‘laterial 53,000
Wages ‘ 11,000
Variables overheads - | 16,000 :
Fixed overhead 10,000
2023 Prospects Rs.
Sales 1,50,000 (60,000 units)
Raw material 5% price increase

' Wages ' 10"@ increase; in wage rate
5% increase in productivity
Additional plant gﬁee Iﬁﬁﬁe;?; ngg (’)%00
Rate of Deprecation 10% : ' i (10)
Or

(a) Define Budgetary control. State the advantages of budgetary control in an

organization. (5)
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(b) The flexible budget of Paradise Ltd at two levels of activity is as follow :

Capacity Levels 80% 100%
Rs Rs

Direct Materials 42,50,000 63,25,000 -
Direct wages 16,00,000 20,00,000
Power v 1,60,000 2,00,000
Repairs and Maintenance 2,60,000 1 3,00,000
Consumables stores 3,20,000 4,00,000
Supervision 3,00,000 3,00,000 '
Indirect labour 6,00,000 6,50,000

| Rent and taxes 2,00,000 2,00,000
Tools 60,000 75,000
Administration 3,50,000 '3,50,000

‘| Selling Expenses 1,00,000 1,00,000

| Deprecation 3,00,000 3,00,000
TOTAL 85,00,000 1,12,00,000

The company is operating at 80% level of activity and the contribution to
sales ratio at this level of activity is 32.50%. The cdmpany has received a

new order which will take the capacity utilisation to 100%.
Required :
(1) Calculate the profits earned by the company at 80% level of activity:

~ (i) Find the break-even level of activity. : (10)
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(@) ffaiaa e Wakefit Ltd & 2022 @ el 2 3R 2023 ¥ furf et B
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I

()

(b)

(a)

(b)

(a)

()

(a)

2

“Limitations of financial accounting have made the management realize the
importance of cost accounting.” Comment.

-,

Distinguish between (any two) :
(i) Cost centre and cost unit
(i1) Direct and indirect costs.

(i) Cost of production and cost of sales S (5.10)
OR
Explain the meaning and relevance of cost accounting standards in the

preparation of cost statements

“Cost classification based on variability, controllability and traceability are
used by the enterprises for different objectives” In the light of this statement
explain the different cost classification. (5,10)

Write a note on Economic Order Quantity (EOQ).

From the following information, calculate labour turnover rate and flux rate :

No. of workers as on 01.01.2022 7,600
No. of workers as on 31.12.2022 8,400
During the year, 80 workers left while 320 workers were discharged, 1,500
workers were recruited during the year of whom 300 workers were recruited

because of exits and the rest were recruited in accordance with expansion
plans. : (5,10)

OR -

What do you mean by labour turnover? Also explain the different methods
of measuring it. 3
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«  (b) A company manufactures a special product which requires a component
«A” the following particulars are available for the year 2022 :

Annual Demand 10,000 units
Cost of placing an order Z 250 per order
Cost per unit of “A” % 500

Carrying cost p.a. 20%

The company has been offered a discount of 5% on purchase of “A” provided
the order size is 5000 components at a time.

You are required to calculate —
(i) Economic Order Quantity
(ii) Advise whether discount order can be accepted or not? (5,10)
30 laya machine was purchased for Rs. 5 lakh. The total cost of all machinery

inclusive of the new machine was Rs. 75 lakh. The following further particulars
are available :

Expected life of the machine 10 years

Scrap value at the end of ten years Rs. 5,000

Repairs and maintenance for the machine during the year Rs. 2,000
Expected number of working hours of the machine per year 4,000 hours
Insurance-oremium annually for all the machines Rs. 4,500

Electricity consumption for the machine per hour (@ 75 paise per unit) 25
units

Area occupied by the machine 100 sq. ft

Area occupied by other machines 1500 sq. ft

ELO.
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(a)
(®)

4. (a)

4

Rent per month of the department Rs. 800

Lighting charges for 20 points for the whole department, out of which three
points are for the machine Rs. 120 per month

Compute the machine hour rate for the new machine on the basis of the data

given above. (15)
OR

Explain the meaning of classification, allocation, apportionment,

reapportionment and absorption of overheads.

What do you mean by under/over absorption of overheads? What are its

causes? How do you account for them? (5, 10)

The following information relates to a building contract for Rs. 10,00,000
for two years, i.e., 2021 and 2022 :

2021 2022

Rs. Rs.

Materials issued 3,00,000 84,000
Direct wages | 2,30,000 1,05,000
Direct expenses 1 22,000 ~ 10,000
Indirect expenses - 6,000 1,400
Work certified 7,50,000 10,00,000
Work uncertified ' i 8,000 —
Materials at site 5,000 7,000
Plant issued 14,000 | 2,000

Cash received from contractee 6,00,000 10,00,000
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The value of plant at the end of 2021 an_d 2022 was Rs. 7,000 and Rs. 5,000,

respectively.

Prepare (i) Contract Account, and (ii) Contractee’s Account for two years
2021 and 2022 taking into consideration such profit for transfer to profit

and loss accounts as you think proper. (15)
OR

The following data are available in respect of Process I for February 2021 :
(i) Opening stock of work-in-progress: 800 units at a total cost of Rs. 4,000

(i) Degree of completion of opening work-in-progress: Materials 100%, Labour
60% Overheads 60%.

(iii) Input of materials at a total cost Rs. 36;800 for 9,260 units
(iv) Direct wages incurred Rs. 16,740

(v) Production overheads Rs. 8,370

(vi) Units scrapped: 1,200 units.

The stage of completion of these units was: Materials 100%, Labour 80%,
Overheads 80%. '

(vii) Closing work-in-process: 900 units.

The stage of completion of these units was: Materials 100% , Labour 70%,

Overheads 70% . Firm uses FIFO method of inventory valuation.
(viii) 7,900 units were completed and transferred to next process
(ix) Normal loss is 8% of the total input (opening stock plus units put in)

(x) Scrap value is Rs. 4 per unit

PI.O.
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2021 2022
Rs. Rs.

TR Y T qE s 3,00,000 84,000
TS HEd 2,30,000 1,05,000
T = _ 22,000 10,000
SHaE aa | 6,000 1,400
T 7,50,000 10,00,000
SO T ' 8,000 s
FEC I A | 5,000 7,000
E 9 W 14,000 2,000
Hfder ¥ W AEwel 6,00,000 10,00,000

2021 3R 2022 F T F YIT T T HAM 7,000 T IR 5,000 € AN
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@ ¥ A SR B Ee A st T e SR e § SR & fow v a W
R AR , (15)
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)
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——
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fraer ey 8q 56,000

T 1,50,000 | ; 1,50,000
N & A RS ¥ T Tewr & fF -

(i) maha@aﬁiaamawmo%aﬁat%a@ﬁmw%l
(i) RE™ @ TR W/ 30% W W WS A Faw R w2

JTH TR HET 2 -
(31) ﬁaamaaﬁ#mmﬁam 3R

() T et 2 e g T e sk frel e ¥ e e s 9 e w
e faaRom (1)

(10,000)



25 MAY 2023

. No. of Question Paper : 4377

Lnique Paper Code v 52411202

Name of the Paper . Business Mathematics and
Statistics

Name of the Course - B.Com. (P) CBCS

Nemester S 1}

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

|, Write your Roll No. on the top immediately on receipt

of this question paper.
2 Attempt all questions.
3. Each questioh has internal choice.
4. Simple calculator is allowed.

5 Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.

P.T.O.



4
377 5

4377 3

Bt & forg fordar
You are required to find :
1 /
sﬁm-wéﬁaﬁﬁmﬁvwﬁaﬂiﬁww
AT forfiay
r ‘ these products are sold at Y100, %60, and
T80 per unit respectively.

(i) The total revenue from each market, if

2. AR mT Aif
3 W W SaRe sy 2 (i) The gross profit from each market, if the
i per unit cost of producing these products
. HTHRT E?Fmaai ITRT 55 SGRInE is 80, ¥50, and 60 respectively. @)
S, TEYE- - .
bl TSR SIS a1 B o e s ¥ e e Dk
IR T A1emw wap &l B Tl :
!
(b) A company produces three products every day.

Their total production on a certain day is 45 tons.
It is found that the production of third product
exceeds the production of first product by 8 tons
while the production of first and third produect is
twice the production of second product. Determine
the production level of each product using matrix

(7)

Part A . Business Mathematics

N algebra.
¢ annual sales of these products (in units) in
1n

these markets ;
are given below :
2. (a) The demand function for a certain product is given

o . Products by p = 25 + 6x — x%, where x is the n-umber of

Q R units demanded and p is the price per unit. Obtain

A 600 5 b the average revenue and marginal revenue

B - ; 0 functions. What is the marginal revenue at x = 27

a 50 300 (5)
250 1100 450

P.T.O.
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il =a

(b) Find the elasticity of supply for the supply function
X =3p?+ 7, when p = 5 and interpret your result,
(5)

OR

(c) Given the total cost function as C = ax2 + bx + c,
where a>0; b, ¢ > 0. Show that the average
and marginal cost are equal at minimum average

),

cost.

(d) The demand for a commodity is given by
p = 4 - 5x°. For what value of x does the demand

(5)

have unit elasticity?

(a) Find the amount and compound interest on 6,950

for 3 years if interest is payable half yearly and

(4)

the rate of interest is 6% per annum.

(b) Find the effective rate equivalent to the nominal

(4)

rate of 6% converted quarterly.
OR

(c) What is the present value of £10,000 due in one
year and 320,000 due in two years, if the interest

(4)

rate is 8% per annum.

R R I i s o i

4377 5

(d) Which is better from the standpoint of the
investor, 9.1% converted annually or 9% converted

(4)

quarterly?

Part B : Business Statistics

|. (a) ‘Different averages serve different purposes but
arithmetic mean is an ideal average that can serve

(%)

all purposes.” Comment.

(b) The following details are available for two factories

A and B:
A B
Number of employees 470 520
Average daily wages (Rs.) 345 285
Standard Deviation of wages (Rs.) 50 45

(i) Which factory pays out a larger amount of

daily wages?

(i) Which factory has greater variability in

individual wages?

P.T.0.
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(iii) Find the combined average daily wages an (i) Fit regression lines to the given data.
the combined standard deviation ¢f wages

for the two factories. (10! (ii) Estimate the likely sales revenue when

advertising expenditure is Rs. 7 lakhs.

OR
(iii) What should be the advertising expenditure

if the firm wants to attain sales target of
Rs. 80 lakhs?

(c¢) Explain the properties of Standard Deviation.
(5)

(d) Draw ‘a curve and obtain the values of median, (iv) Calculate coefficient of correlation. (12)

lower and upper quartiles, 9 decile and 55

percentile from the following data OR

Scores | Belowl0 | 10-20 [ 2030 [ 30-40 [ 40-50 | 5060 | 60-70 (c) What are regression coefficients? How are these

Number of - i
students 24 36 30 24 9 6 21

different from the correlation coefficient? Explain

their properties. (10)

(10)

(d) Calculate Karl Pearson’s coefficient of correlation

2. (a) What is ‘Non-sense Correlation’? Explain with thewm, Hhe ol GRHIE G

examples. 3)

Xiat2l3l4| 56| T|&]2 |10

(b) The following data relates to advertising vl11lisli7l16]23|22]19]20] 26 | 31

(5)

expenditure and sales revenue of a firm

Advertising expenditure

(Rs. lakhs) 1 ’ . ; . 3. (a) Explain the Moving Average Method of determining

trend values. Compare it with the method of least

Sales revenue

(Rs. lakhs) 10 20 30 38 52

squares in terms of its merits and limitations.

(10)

P.T..0:
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OR

(b) Cbmpute the trend values by the method of leg

squares from the following data. Also estimal
the production for 2024.

9

OR

: E Fisher’s
(¢) Construct Laspeyre’s, Paasche’s and

price index numbers from the following _data. Which

of these is the Ideal index? Why?

Current Year
Year 2016 [ 2017 [ 2018 | 2015 | 2000 Base Year e —
- - uantity
Production | 56 | 55 | 51 | 47 | &3 Froducts Price T @) (kes)
(000 tonnes) l (Rs.) (kes) %5
- = 7 40
22 L = iy
| B 30 44
i 34 16 -
. ; ; 30 i
4. (a) What is the Consumer Price Index? How is | p— 20 4d
(10)
useful?

2023 with 2022 as base

Item Food Fuel [ Clothing Rent
35 10 20

% expenditure ‘

15

Price in 2022 (Rs ) 150

Price in 2023 (Rs.) 165

3 3

in 2022, what should be its monthly income

in 2023 so as to maintain the same standard of
living?

Part A : Business Mathematics

| (&) v P P, Q ¥R R W oW W i

3, R 75 @7 - dE A A, B A CH

A= B

= AR ¥ T S g ¥ A A w
@ R

P L.
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(%)

10
I (
R P Q 'R
A 600 250 500
B 400 850 300
c 250 1100 450
ST I T B

(i) @fe 37 I = FAE 100, 260, I 280 WA
gHe W S W R, G e e
e T s BEm

(i) = 37 I & ST &) W T ane
A T80, IBO AN 60 B, A Ydw TAX A
A A fEEr B 2 : (7)

T

T FO Ao O IeE @ Iered St 21 v
e R & s7e wa e 45 o 21 TE wm
T ? R IR STe o S9eT TS SWE § g
¥ 8 o e 2 TR wER sk SRR T I
TR IAE F IEET A M B AR Ao
H IWN FE TAF IEE IR T iR
BT ()

11

; -wﬁﬁaﬁwﬁmwwf)=25+6x—

2 fror w2, Wil p Wi S WS gEEdl e weE
3 S @ v T T R SfEd Tored SR G
ST A T gl x = 2 W A aerd F49
27 (5)

i wEEE x = 3p + 7 @ PR emgl W W
A AR, W p=5 & AR FF YR AR
Edim (5)

T

 C=ax®+bx+cd T X HHA AN G W T

%7, et a>0;b,c>0 2 3R stea 3 dFg AT

= ST ARE & a2 (5)

e weg @ AW p=4f5x2%lx%rﬁﬂﬂﬁ7%
forg Wi ¥ T A= B 7 (5)

af2 26,950 AE W SAE! TR T TS 94 B 3R =S
£ w 6%y AW 2, A 3 A & 9@ U AR RS

= T E e (4)

RSt w9 A TRAEE 6% S ARRT W W A
W A i (4)

PoT X
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< @) g B3 e g A FAferer qREa=TEe

Vol

21

(®) afe =arst <X 8% Wiy af 2, & ver aw ﬂo',ooomf
W SR & AW ¥ 320,000 W <8 IAWE MH o
¥  (4)

{it) A B & for g shes e el
Sk wored & dgEE wME fEe wE Rl

(10)
(z) frewE & ofteswior 3 9.1% o yRafda far mar ar

9% foaEt staR w uRefda fFar = =4 o d8a
¥ (4)

o

(ﬁ)mﬁﬁq%ﬂﬁﬁmwl (5)

Part B : Business Statistics

(7) T % TR 3 Beffa 3o ¥ wo, e ok
S wgd®, oF ok S 654 Whme & FT W

- e

L (&) 'R sed semT- R SRwE e off ¥ Afe
ST Weq T ey siad & W @ 3 o
9 w21 Ruh #ifw (5)

10 & | 10-20 | 20-30 ,30-4-0 40-50 | 50-60 60-70

(&) = wfegdl A it B & forg Fremfeias =R Syemr & -

A B (o)
SR F e 470 520
e AFE AT (%) i 285 2 (3) ‘FBefw we-weEw wEB7 JerEcl & wEEl (3)
A A qEE e (€) 50 45

(7) PRl o v v & e o R F s
(i) -8 o Wik Ty 0 v =D W@ ¥ w3

WA et 27

P.T.O.
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AT o == 1
(. =) ? 2 1A , >
T TSt
(%. =) 2 20 | 30 | 38 \ 52

(i) BT = 7 @ TR B w wwRT AR
TS T AT TS|

(i) o w3 80 v T & skt wew = W Fy
= & A RS =m wr e i

(iv) aEaae TUNR il A0 HifeTo | (]2)
a1

(]) wmaw ors @ 27 A wsey e & 9 A
87 ST W A wmen S (10)

(7) Fefoiaa sl & ot foed @ wewar ore <)
VAT g

4377 15

!X12345678910

vy {11 15|17 | 16|23]|22]|19|20| 26 | 31
(5)

o (3) wafa WA W PefRe w A aw- sitea @i @
wreT | TaE wEal R ARs & el e
Tt & fafr & @y g@e g S (10)

E2N

(@) feafRaa Tor & wmaw @ @ G e vt w=
Y o Fifewl ad 2024 & R ISR = A STEA
el

Tq 2016 | 2017 | 2018 | 2019 | 2020 | 2021 | 2022

EIICGE
(000 =) 56 55 51 47 42 38 35

(10)

4 () STIEE A qEeih w27 TE HA IwAR 87
(4)

(¢) =¥ 2022 H MUR S 9 2023 = Tore I

AT FASIE el hT T A |

PO
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= W= | fuw | w3 | A | Aea
% =¥ 35 10 20 [ ' 20
2022 ® fmT (7)) [150 25 75 30 40
2023 ¥ #ma (%) [165 30 85 30 45

afe 2022 ¥ vw uRar & wRE I 1,00,000
@, 2023 ¥ A WRF s F@ A AR

A a9 ©R I 990 W& o 93 7

a1

(6)

(&) ﬁw%%aaﬁa%am,waﬁtﬁﬂna‘m@
TR A F T e 3 ¥ - sred

THE 87 HRI qAIT

B JYTT T9 Current Year
SR Frwa aer | fww [ owEm
®) (fa=im) @) | (&=

A 25 40 40 50

B 22 18 40 20

C 34 16 30 44

D 20 40 30 45

(10)

(1000)
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2. Attempt all questions.

3. All questions carry equal marks

1. (a) "No investment is risk-free". In view of this statement, explain the meaning and types
of investment risk. (5)

(b) Following information about two shares X and Y is given:

Security Expected Return(%) Standard Deviation(%)
X O (1 30
Y 30 : 60

Find (i) Portfolio expected return and risk if the allocation of total investible fund in the
share X and Y is made in the ratio of 4:5 and the coefficient of correlation between the
returns on the shares is -0.6. (ii) Optimum allocation of fund to be invested in X and Y if
the coefficient of correlation between their returns is -1. (iii) Portfolio's tax adjusted expected

return if the allocation of funds is done to the ratio found in (iv) above and the tax rate 1s

30%.

E.L0:
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(%) " N FAm e g A W e W oW ¥ g, B AR @
' F IR TER W w Sl |
(@) & I X 3R Y & ;R ¥ Fkies amed § &

EINE (] | sferr wieem (%) = h =T (%)
X e = 10 30
Y o 30 60

maﬁﬁﬂqmﬁﬁﬂmxsﬂ?vﬁ@aﬁ%mmwm4:5%a§mﬁ
# o s 2 ok IR W oulers @ S wmEEy @ e -0.6 2, A GERR@
® I yiers s R w®@ A i) X 3R Y ¥ FRm @ o arit A @ s
| e Afd I ufeer™ & e wEEsy W s -1 A i) 9 O @ AT oW
(iv) ¥ UIC ¢ I ¥ o S R ol W A w 30% 2, @ NERRE W R TR
Jfee wfaenst @ Enm
OR
ar

(a) "Investment is a well-grounded and carefully planned speculation”. Explain the difference
between speculation and investment in the light of the above statement.

(b) The return of two securities A and B are given below:

Situation Probability | Return on security A Return on security B
Normal 0.3 12 8

Above normal 0.4, 1 16

Boom 0.2 18 20

Depression 0.1 20 22

"Find the following:

(i) Expected return and risk of each of the individual security.
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(ii) Return and risk of the portfolio comprised of 75% of A ahd 25% of B.

’ (iii) Portfolio's real expected return if inflation rate is 5%. ' (5+3+2)

‘(m)“ﬁamwmaﬂ?aﬁu@@mﬁﬁﬁmmﬁ”lmmﬁm
¥ @R gr @R oK AT B @9 @ siw @ ene @R

(@) @ Rl A 3R B @ wRew W@ R wn @

aRfeafa EUBCR) wfeifr A W wfoes | s B W wfdem
R 0.3 12 8
I d I 0.4 15 16,
Eil 02 i 20
| 0.1 20 22

frafReg s SN

(i) W T R @ R SR e S

(ii) AERRR B W FR AW A A T 75% W B W 25% W oM
(iii) aR WRAR | 5% 2, W VR @ Awfas U gier s

' 2. (a) What is market efficiency? Explain the three forms of market efficiency. (5)
(b) Write a short note on open-ended mutual funds. @) .

(c) Three securities A, B and C are offering return-of 15%, 20% and 17% respectively. The
return on T-bills is currently 6%. The beta coefficient of A, B and C have been estimated
as 1.4, 0.9 and 0.75 respectively and the market return is 18%. Using CAPM approach,

find is the securities are fairly priced. (6)
(%) SR e T B? TR THA D AT TN R W A€l

(@) @@ FaR o™ (Open-ended) TIFA W W TH dere feomd fofem

.

P.T.O.
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() T ufesfoar A, B 3t C w9 15%, 20% 3R 17% o0 9fienst € @ 21 Toahiv-[a
W et e 6% #1 A, B 3R C @ der quner w14, 09 3K 075 B
w1 F g e 2 ik S aRer 18% 2 CAPMWWWW&
T, Wwﬁﬁﬁnﬁmﬁﬁraﬁaﬁﬂam%i

OR
ar

(a) What is credit rating? How do.they assist investors in bond market? What are the
disadvantages of credit rating? : (1+2+2)

(b) What are aggressive and defensive stocks? How would you interpret beta coeff1c1ents
of 0.5, 1 and 1.5 for three stocks A, B and C? (3)

(c) Market price of a share was Rs 60 at the beginning of the year and Rs 55 at the year
end. The earnings per share of the company is Rs 7 per share. What is the price-
earnings ratio (retrospective)? : _ (4)

(d)-IExplain.returns from a mutual fund. | (3)
(w)%@zmw%?%ﬁéwiﬁ%mﬁﬁﬁmﬁm%’?%ﬁamﬁw
T BT | |
(@) SmFwE SR T wiw F 2? g A FW A, B R C. B R 05, 1 3N 15
® el TR W R B A7

&) wﬁmaﬁmﬁ{ma&aﬁgﬁmﬁeot@aﬂra&%mﬁ 55 T@ A1l HE
AR W T 7 A A AR R A-H o (qderd) w27

(¥) ¥ %S ¥ Ao o1 R SR

(a) Mr. lehant purchased a bond for Rs 8000 w1th a coupon payment of Rs 500 p.a. The
bond was sold at Rs 9010 after one year. What is the holding period return? Calculate
the holding period return if the bond is sold for Rs 7825. (5)

(b) Face value of a bond is Rs 1000 and the current market price is Rs 1080. The coupon

rate on the bond is 12% and it is redeemable in 8 years at par. Find the yield-to-
maturity of the bond through interpolation. (10)
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T(m)vﬁﬁaﬁa?rsoomﬁwﬁra&%mfrw%maooosﬁﬁ@aﬁ@aﬂm
ﬁ’ﬁsaﬁwaﬁmomomﬁﬁ%mﬂmlmﬁ’mmfﬁu%amw%?uﬁ‘qh’?ws
o ¥ A W R A iR s e AR P

(a)wﬁ’ﬁama%an@monmﬁ% SR G AR AT 1080 WA 21 SR W OEH
w 12% 2 @tmsa&ﬁa@mﬁaﬁu%raﬁm%m%aﬁmuﬁqﬁm
wfwe AR e

OR
Al

(a) A Deep-discount bond is issued for a maturity period of 10 years and a par value of

64000. Find out the value of the bond given that the required rate of return 15 15%!

(b) Face value of a bond is Rs 1000 with a maturity period of 7 years. The bond's coupon

rate is:
Years | ~ Coupon rate
%40 34 12%
Ath and 5™ 14% p.a.
6% and 7% 16% p.a.

The required rate of return by investors is 16% p.a. Determine the current value of the
bond assuming the bond will be redeemed at 5% premium.

(%)@mmﬁamﬁﬁama&aﬁqﬁqmmﬁzémoo%mm%ﬁm
o e 21 ol wiRen @ sEEE W 15% 2 @ Ry WU A= @ A TG DI

(ﬁ)ﬁ%mmwﬁ7a&a‘ﬁqﬁqﬁmmﬁr%mmoomir%t'aﬁ%a?r@qz(

0
9 O
1% to 3¢ 12% ade
4% and 5% 14% aifdeh
6" and 7% 16% difteh P.T.O.
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B T R @ EmEE W 16% R ad 21 a d 5% MEw W S
75 AFY FY WS 1 G qed Fuiitd @il '

4. (a) Differentiate between fundamental analysis and technical analysis. (5)

(b) Currently dividends on a share have been growing at a rate of 18% p.a. and they are
expected to grow at this rate for the next 4 years, after which the growth rate will fall
to 12% pea. for next 4 years. Thereafter the growth rate is expected to remain at 6%
pea forever. If the last dividend payment made by the company is Rs 2 and the required

rate of return by the investor is 15%, what is the intrinsic value of the share.  (10)
(=) wiferer fageroor st Teeien fEawor & @9 e SAR|

(@) o ¥ v AR W AN (8% 9 A W W A 9 W R N IR W 4 W T
W W A TN & INE 2, e o e 4 a0 @ fow afe w 12% vl ad aw
it woA e We gfe w s @ fw 6% i af ' A SRie 31 aR @
T v T RE ST EEE 2 T 8 iR Fewe g aien o sEeEd W O15%
2, @ W w AARE oI w27

OR
art

(a) A mutual fund raised Rs 48,67,000 by issuing 4867 units of Rs 1000 each under a
scheme. The amount was invested in different securities. The market value of these
securities at present is Rs The mutual fund's liabilities amount to Rs and accrued expenses
amount to Rs 58,000. Find the NAV of the mutual fund scheme. (5)

» (b) A company is expected to have EPS of Rs 9 and it is héving a dividend payout ratio
of 60%. ROE of the firm is 20% and required rate of return by the investors is 14%.
How would an investor decide the market pr{ce of the share with the help of Gordon's
model? What would be the market price if DP ratio changes to 45%? (7)

(c) Write a short note on SEBI. (3)

(a;)'*qm HAAA TS ¥ UH WM & G8d 1000 T F 4867 FHT WA HH 48,67,000
T Wewl aF g Rte gl § FRw o v M adem § g wfefeal @
AR G 57,95,000 TA ¥ RIHAA WS & €Al 5,00,000 T AR U @
58,000 TA Bl TN Be WM W Faw A q@ (NAV) 61 T60 TR
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(ﬁ)wm%m‘;mﬁmqﬁwaﬁ?(EPIS)é\%aﬁ“ﬂE%aﬁtmm
U S 60% 81 W R S W dfeers (ROE) 20% 2 3N PRl grr e

a%mmatM%%naﬁﬁawnﬁH%ma%m%ﬁmmwgﬁaﬁ

T9 @w@n? gk DP S 45% ¥ wEd TR R A ORI F@ B

(w) ¥ (SEB) R v wierq fewd ffew .

5. (a) X who is short a put option and Y who is long a call option wants to know their payoffs
if market price changes at a gap of Rs 10 from its current level which is Rs 500. The
exercise price of both the option is Rs 450 and the premium is Rs 12. Calculate their
payoffs with help of a table and show it with help ofa diagram also. (4+4+2)

(b) Write a short note on anv one of the following:
(i) Green shoe option
(ii) Securities Ombudsman
(iii) Book Building

(m)X%mﬁaaﬁw%aﬂiY%maﬁm%mW%,agmw
W%mm%mmmﬁm,@snom%,ﬁqﬁaﬁ?aﬁmaﬁaﬁ@@ﬁt
ST aE 31 A el @ AN e 450 T SN M 12 WA B TH e
# T A IR WA W A HRR AR W IR R W ¥ SR REm

(@) Feffen & ¥ Bt we W e feond ffe
(i) of-swe faee

(i) vy s
(i) =& P
. OR
a1
(a) What is the difference between a future and an option contract? Also, explain the
concept of American and European style of option contracts. (5)

P.T.O.
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(b) Three months call optlon premium is Rs. 2 and 3 months put option premium is Rs. :
Assume that the exercise price for both the cases is Rs, 50, find out the net payoffs ¢
the call option buyer, call option writer, put option buyer and put option writer whe

the spot price on the exercise day is Rs. 47, Rs. 49, Rs. 50, Rs. 52 and Rs. 53.
| (10

() ‘oo 3R ww e & o9 FAW T B! WD A, JUTE FASEN W IR
IR Wi FeR N J@uUROT A AR HoQl

(@) S W@ @ W fawer Magw 2 v B 3 3 WA @ RAwer Wifmw 3 T 2
e e a9 wEEl & e v wew 50 @ R, A faeRed @deR, Wi fasew wse
feT @R B Y& WEAR = TN @G W B R TR AT 47 T, 49 0
50 ¥, 52 Y IR 53 TA B, A fFra fwew v w0 EWm

(400
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option premium is Rs. 2 and 3 months put option premium is Rs. 3
&ercise'price for both the cases is Rs, 50, find out the net payoffs of
ser, call option writer, put option buyer and put option writer when
the exercise day is Rs. 47, Rs. 49, Rs. 50, Rs. 52 and Rs. 53.

(10)

 FEy @ A SR 37 S A, U el W SR
N JFEURen i FRen diel

e ffem 2 T ? 3R 3 WA w1 fAmey AW 3 T 2 AW
T @ fre W@ wew 50 T B, W famer |lER, W faeer uEey,
€ A E T R 3R vanr & R wivw w47 w4, 49 T\,
I 3R 53 v 2, A faha Rwew wser = Bm

[1his question paper contains 4 printed pages.]
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1 sﬂm-q—ﬁ%ﬁaﬁéﬁmﬁqwﬁuﬁﬁaw‘#ﬂm
g fore |
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%@wwgﬁmmuwaﬁrmaﬂzﬁm%ﬁam
' (10)

, Rl sua HER F aetas Red Ak | (10)

3. ﬁﬁﬁwwawwmmﬁﬁﬁmwwﬁw
forfRaw (10)
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4. ﬁwﬁrﬁaamoﬁaﬁwa:mﬂ%ﬁv—

(F) =R Mge A go@mm@ 0 29 )
mwmwgaqﬁ,aamﬁmn
m@apﬁ,mﬁmaﬁw@|
RN T I ST, B AR X @

A X W R TR, s S w e

T WE WA W AT W R
A T =R W aE A s wmew
T R g @ m AT R o

Eﬁ-?ﬁwﬁwﬁqaﬁ-‘rﬁﬁ‘zﬁan

() Fea o wfe 3 - 3 R

AT qE X T8 W A wY Y Red

T Io ¥ e R - AT T o,

I A -BE I A=E A WA o7 |
srorar

T fo-F W o s W T o,

A H T BT Y B A v oA %

I e ¥ T W Rw w0 w7

-yt snfeds 3 w9 w3 w4 (10)
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(
I was the tenth of eleven live children born to

Tranquilino Ponce and Vicenta Solis. My mother
miscarried twins, said to be Boys, among her first five
children. Of the first three Rosalia, Socorro-the-First,
and Rito only knew Rito, who died before I started
school. And although my parents appeared not to dwell
on their loss, they would allude now and then to their
first years in this country and to the children they had

lost. 1 thought of my first three siblings as Them.

Rosalia was bom in Mexico. At twenty-two my father

married my mother, then twenty. They lived in
Barretos ... until about 1915, when my father decided
to emigrate to this country.... Once all their papers
were in order, and with money sent them by my uncles
in Ca-lifornia, they left with Rosalia, their infant
daughter. My mother often spoke of the t1;ip z;nd of
having to throw dirty diapers out the train windows

because there was no place to put them...

7 . Pt

In a photograph taken when éhe was about thirteen,
Rosali)e looks tall for her age, tall and strong. * Her
hair is neither curly nor fashionable, but pulled back.
| found it difficult to believe Rosalie was my sister,
because she was so homely! This material may be
protected by copyright. She looked old for her age
and terribly serious. I would stare at the photo, trying
to find a resemblance. I also heard that when my
mother, pregnant with me, visited Rosalie at Olive
View Sanatorium (she later died of tuberculosis),
Rosalia took one look at my mother’s round belly and
said, °Why do you want more family?” I never heard

my mother’s response.

Rosalie died when I was three months old ... with
tuberculosis, a disease prevalent among Mexican
immigrants, and was quarantined, first at home, in
Los Cuartitos, the rooms my father and brothers

occupied, then at a sanitarium. She died at eighteen.

Maria del Socorro ... was born in Ventura, California.

BT.O.
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She was my parent’s second child and livelt(l but
short time. Her death was tragic and somewhat
mysterious; I knew the details by heart. One day when
she was about five, she was playing with a boy from
the labor camp. He had a box of matches and began
to taunt her. The two chased each other around the

camp. Suddenly he lit a match and threw it at her;

her dress caught fire. Frightened of the flames that

quickly enveloped her, she ran, not toward home but
into the lemon groves! By the time my mother came
to her rescue, Socorro-the-First was badly burned.

She died a day later.

Although the boy had a reputation for being in trouble,
his parents never acknowledged his part in the
incident. My parents forgave him and his parents,
although my mother was devastated. My sister was
buried in a simple plot somewhere in Ventura. Soon
after that our family moved to Pacoima. When I first
heard this story, I built up a hate for the boy and

vowed to get him, but I never met him.

4427 ‘ 5

Ri';(o, also born in Ventura, was my parent’s first son;
mdire than the others he resembled my father’s
family.... The one image I have of this brother, who
died of tuberculosis right before World War T, is of
a tall, slender man in pajarﬁas.... Rito, along with other
young men from Pacoima ... dug ditches and w.forked
in the construction of roads. While there Rito
developed tuberculosis. He also spent the last years
of his life at Olive View Sanatorium. Now and then
he came home on a pass, but stayed alone in the
cuar.titos. He never ate with us; I don’t remember

him inside our house. Mostly he looked sad. Handsome

and sad.

One day I had just finished my oatmeal and ran outside
to play. Rito, then about twenty, was sitting alone. ...
He called me over and asked, “Why isn’t your hair
combed?” I put my hand to my curly hair, embarrassed
at having Rito see me looking so messy.... He sat me
on his lap and began to unrave] my messy hair. As he

worked he spoke, his voice soft and low. “I don’t like

PE6
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)
to see you with your hair in your face,” he told |

“Always wash your face and comb your hair beli

\ L/
going outdoors. Okay?” I remember his soft lou‘

the long tapered fingers that gently separated

Shirley Templé curls, the blue-green eyes that looks

into mine, the dark wavy hair that fell across ki

smooth white forehead. His sad look. Years lat?l

developed a crush on actor Gilbert Roland (old eves

s 1
then). He reminded me of Rito, dear Rito, who by
combing my messy hair had told me so much about

himself. (787 words)

Passage 2

~When the doctor suggested surgery
and a brace for all my youngest years,
my parents scrambled to take me

to massage therapy, deep tissue work,
osteopathy, and soon my crooked spine

unspooled a bit, I could breathe again,

4427 7

,-and move more in a body unclouded
' by pain. My mom would tell me tb sing

songs to her the whole forty-five minute

drive to Middle Two Rock Road and fofty-
five minutes back from physical therapy.
She’d say, even my voice sounded unfettered
by my spine afterward. So I sang and sang,
because I thought she liked it. I never

asked her what she gave up to drive mé,

or how her day was before this chore. Today,

at her age, I was driving myself home from yet

another spine appointment, singing along

to some maudlin but solid song oﬁ the radio,
and | saw a mom take her raincoat off

and give it to her young daughter when
a.storm took over the afternoon. My god,

I thought, my whole life I’ve been under her
raincoat thinking it was somehow a marvel

that I never got wet.

I
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Passage 3

}
1

She thought she heard the phone ringing, so she"sprang

up and went in. By the time she reached it; she

realized that she had only imagined it. Probably, neither
Sarah nor Corinne had gotten her messages yet. She
had left one message with an unreliable machine, and
the other with a less reliable grandchild. She hoped

they would call back.

The Tiffany lamp across the little parlor cast a warm

glow on the antique table on which it sat. She needed

- to pack away the pictures and memorabilia she had

spread across it. Sarah and Corinne could help her
decide what to do with all of t-hem. The two girls
might even enjoy seeing the pictures of themselves
frozen in time, laughing and crying and staring and
dancing and growing over the years. She had
documented all of the awards, all the accolades, all
the accomplishments . All the usefulness. She wished

Just once she had spent quiet time with them, walking

4427 9

alpag abandoned beaches, sailing on quiet waters,
fishing on a lonely pier. If she had her child-rearing
to do over, she would take them outside at night and
lie on a blanket, staring at the stars. She would teach
them to breathe the breeze that caressed their faces,
to savor the scent of Jasmine, to walk for pleasure

and not for exercise.

But, until lately, those joys had somehow escaped
her. Life had been a series of ventures, one deadline
piled upon another. She had rushed through her life,
building her momentum and chalking up her feats, and
had taught her daughters to do the same. She picked
the phone back up; listened to make sure it had a dial
tone. They would call back soon. Any minute now,

one of them would get home and return her call.

She walked to the coffeepot, and filled it with coffee
grounds ... she practiced the speech she had prepared
for Sarah and Corinne. She had to be persuasive

without being overbearing. Talking them into dropping

P.T.D.
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everything and spending a week with he:"gin Flo s time, while everyone else’s life moved on.
mths call opt

was not going to be easy. She had taught them w

hat the exer

Sarah clicked back on. _
Hon bt o Sarah’s husband and two children had not shaken I el licked back on. “Sorry about that. It was b
ption : : :

‘ ) speaker for th f t :
price on the free of the lessons Maggie had so carcfu.l.ﬂ’ pea or the conference next week. She canceled,

! ; 3 ' $0 now I’m stuck finding another one. Now, where
programmed into her. And Corinne’s three businesses , .

were we? Oh, yes. Mom.”

were testimony that the family way worked.

iR sicrE 3% She toall ; :
= = “She wanted to be with her daughters. The three ol =S MRS DS o Sardi, I sicdll about this
Il { : autobi hy she’ ing. S ts pi
: them needed time for mending fences, for healing HOPIOBTaphy she’s doing. She wants pictures of us
AT . , together— like I reall ict
ULl fer relationships, - for explanations and exhortations, She ] Bl £Xe © really want my picture stamped on
AR ARl K . the co f ten thous sl : P
i picked up the phone and called the airline. She would cover ol ten thousand books. I don’t know what's
iﬁm‘%%ﬁ' tten into her. This h ' {
@ buy their tickets, and perhaps that would force then Lo gito jer 1§ as become so Hibportant, shsrl
52 TA 3 do just about anything. ’s al
hands. She hoped it wasn’t too late to show them that T Anyibine. And she's ready bought our
. - gRwgr” airline tickets. How's that for confidence?”
time wasted is not always a waste of time.

. . . She what?” Sarah agked.
Corinne Downing sat at a red light holding the cell T ST 'niice

phone to her ear, growing more and more irritated

She thinks if she has the tickets, we have to go. She
Wasn’t it just like her sister to put her on hold for s¢

Just won’t take no for an answer.”
long when Sarah knew she was on a cell phone in hei
car? That was the story of her life. Just put Corinnc Well, ‘we're grown women, Corinne,” Sarah said.

. : ; “She’ll have 8 %
on hold. Let time tick by, minutes, hours, years at ¢ have to take no for an answer,

BT .0
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“But then there’s that ‘Honor your mother™ thing,"
Corinne said. “Part of me keeps thinking that 1’\8 better
do what she says.” “Or what?” Sarah asked.n“ls she
going to ground you? For héaven’s sake, you're
twenty-eight years old. I'm thirty-three. I don’t have
time for this.” The phone beeped again, and she

moaned. “Hold on, Corinne.”

“Corinne was certain her blood pressure climbed as
she waited. She reached her finy duplex still holding
the phone to her ear. As she got out of the car, she
looked down at the spot on her jeans. What had she
been thinking, adding a dog-walking business to her
other struggling enterprises? Designing Web sites kept
her swamped enough, and her jewelry business filled
most of her free time. And now look at her. An
overzealous cocker spaniel had urinated on her today.”

(790 words)

4427 13
QUESTIONS
L1
PART A
Answer any 3 of the following : (3x10=30)

Question 1 is based on Passage 1;
Question 2 and 3 are based on Passage 2;

Question 4 and 5 are based on Passage 3;

I.. Why does the author in Passage 1 think of her eldest
three siblings as “Them”? What does the description
that she offers of each of them tell you about her

feelings towards all three? (10)

2. In Passage 2, how does the sight of the child being
protected in the storm by her mother change the poet’s
perspective about her own life? Can it be called a

moment of epiphany? (10)

3. Why do you think the poet’s mother in Passage 2
always asks her to sing in the car on their way to

therapy? (10)
BTG
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4.  Why does the mother in Passage 3 feel desperaie to Imagine that you are the author of Passage 1. Write
. L) L .
51 meet her daughters? Does she believe that  her a diary entry recording your feelings towards the .
21 ldaughters will sotually comey ! ' boy responsible for Maria’s death. What do you
s : ~make of your parent’s decision to forgive him and his
je 5.

How do Corrine and Sarah’s reactions to their '

; 5
; family? (13)
mother’s message differ from each other in Passage
3? What does that tell you about their respective
*x characters? (10) On the basis of your reading of Passage 2, write
[ a dialogue between the poet and her parents, in
which the poet expresses her gratitude towards has
PART B
2 ST e ' i parents for helping her vope with her physionl
Al
Answer any 3 of the following: (3x15=45) condition ) ,
& : ’ !
2 Questions 6 & 7 are based on Passage 1;
y ; agine that u are the mother in Passage 1 sl
Question 8 is based on Passage 2; . Imagine that yo
0 Shea b d 2 your daughters have agreed to come (o visil you
uestions an 0 are based on Passage 3;

Write a dialogue/essay/story explaining to them why
6. On the basis of vour reading of Passage 1, writ an | it was so important for you that they come. Explain
: a y ading s , write |

e s . . o ur perspective on life has changed.
Imaginative dialogue between Rosalie and her mother fo\hem how your persp

"6 {68 th fer them for
as she finds out that her mother is having another | What is the advice that you would offer

child. Do you think Rosalie is elated at the idea of | their future? (15)
having a ninth sibling? How would her mother react

to her questioning? (15)
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